
                        where P = probability, D = destruction, R = regeneration 
 
                                    P(3R|3D) = 1.00 
 
                                                 chemical dye = destruction 
                                                          monofilament = destruction 
                                                      man-made fibre = destruction 
                                                            linen thread = regeneration 
                                                               wool fibre = regeneration 
                                                                         silk = regeneration 
                                                 patterns will return = probability 
 


